Lineal Wide STructura

M1100 and M2200 Installation Instructions

Warnings Diagram A

CAUTION—risk of fire and this product must 3.00"
be installed in accordance with the applicable - —
installation code by a person familiar with the

construction and operation of the product and the 1-5\1

hazards involved.
Suitable for wet locations.

Mounting orientation must have light source facing
down.

Electrical service must be disconnected durin
: , 9 L e
installation.

Proper grounding is required to protect against
shock and proper operation.

Fasteners Provided

(2) 3/8”-16 x 17 stainless steel bolts Diagram B
(2) 3/8” stainless steel washers

Tools Required

9/16” wrench or socket for 3/8” hardware
Wiring tools and connectors

Single Fixture Mounting

Step 1: Ensure drill pattern on pole matches drill
pattern in Diagram A.

Step 2: Route SJEOOW wire whip from fixture
through 1.25” hole in pole.

Step 3: Fasten (2) 3/8”-16 bolt with flat washer as /8716 1 /
shown in Diagram B. Torque bolts to 20Ib-ft. He:,jd Boe‘i—-

Step 4. Connect 5 conductor wire to 5 wire whip
from fixture as shown in Diagram C. If O-10V dimming
is not required, terminate ends from wire whip.

/87-16 Thread—

Step 5: Install pole top cap.

Diagram C
Black ()
White (+)
Green (Gnd)

Orange (Dim -)

Red (Dim +)

Structura, Inc. | 9635 Widmer Rd., Lenexa, KS 66215 | 913.390.8787 | www.structura.com



Lineal Wide

M3300 and M4400 Installation Instructions

Warnings

CAUTION=—risk of fire and this product must

be installed in accordance with the applicable
installation code by a person familiar with the
construction and operation of the product and the
hazards involved.

Suitable for wet locations.

Mounting orientation must have light source facing
down.

Electrical service must be disconnected during
installation.

Proper grounding is required to protect against
shock and proper operation.

Fasteners Provided

(2) 3/8”-16 x 1" stainless steel bolts
(2) 3/8” stainless steel washers

Tools Required

9/16” wrench or socket for 3/8” hardware
Wiring tools and connectors

Single Fixture Mounting

Step 1: Ensure drill pattern on pole matches drill
pattern in Diagram A.

Step 2: Route SUEOOW wire whip from fixture
through 1.25” hole in pole.

Step 3: Fasten (2) 3/8"-16 bolt with flat washer as
shown in Diagram B. Torque bolts to 20lb-ft.

Step 4. Connect 5 conductor wire to 5 wire whip

from fixture as shown in Diagram C. If O-10V dimming

is not required, terminate ends from wire whip.

Step 5: Install pole top cap.

Structurd

Diagram A
| 3.00" |

075"
== Q O
®__0.4375"

Clearance

2.50" 1.25"

y Clearance

-

// RN
\
1/ } "
- (O 6
N\ /
\ /

2.50"
— O O
|—2.25”—,
Diagram B
3/87-16 Hex
Head Boltj‘

@
o

I

@

.)0:)\\\“»»

3/8"-16 Nut or
Thread Insert

Diagram C
Black ()
White (+)
Green (Gnd)

Orange (Dim -)

Red (Dim +)

Structura, Inc. | 9635 Widmer Rd., Lenexa, KS 66215 | 913.390.8787 | www.structura.com



